1950(10)

Derbyshire 2nd XI.. Minor Counties Competition Season 1950.

Played 10

Won 1

Lost 2

Drawn games: - 1st. inns. pts. won 3

lost 3

no result 1

Pts. obtd. 34

Final postn. 18th (out of 32)

STATISTICS —1950, 2nd XI MINOR COUNTIES COMPETITION, 1950

FINAL ORDER

		1	Vo. 0	f Match			No. of Aver.			
	Р.	W.	L.	W. on 1st Ins.	L. on	No Resit	Pts. Obtd.	Pts. per Match		
Points Awarded	-	10	-	5	3	_	_	-		
SURREY 2ND XI	14	4	0	4	2	4	66	6.60		
BEDFORDSHIRE	8	2	0	5	0	1	45	6.42		
WARWICKSHIRE 2ND XI	12	3	0	4	2	3	56	6.22		
GLAMORGAN 2ND XI	.8	2	0	Ţ	2	3	31	6.20		
ESSEX 2ND XILINCOLNSHIRE	12	5	1	3	3	0	74	6.16		
HERTFORDSHIRE	12	3	0	4	3	2	59	5.90		
YORKSHIRE 2ND XI	10	3	0	3	4	0	57	5.70		
LANCASHIRE 2ND XI	14 18	4 5	Ĭ	4	4	Ĭ	72	5.53		
STAFFORDSHIRE	10	3	2	5	4	2	87	5.43		
HAMPSHIRE 2ND XI	10	3	1	3	1	3	38	5.42		
BUCKINGHAMSHIRE	10	2	2		3	o	54	5.40		
KENT 2ND XI	12	7	- 4	5 8	O		45	5.00		
DEVON	14	2	- !	2	- 1	Ī	53	4.81		
OXFORDSHIRE	10	2	3	2	2	5	42	4.66		
DORSET	10	3	2	2	4	0	46	4.60		
CHESHIRE	10	- 1	2	3	1	3	28	4.00		
DERBYSHIRE 2ND XI	10	- 1	2	3	3	- !	34	3.77		
SUFFOLK	8	- ;	7	3	5	Ļ	34	3.77		
NORTHAMPTONSHIRE 2ND XI	8	1	- 1	ò		0	30	3.75		
NOTTINGHAMSHIRE 2ND XI	10	- ;	2		4	2	22 29	3.66		
DURHAM	8	ó	1	2	2	2	21	3.62		
SUSSEX 2ND XI	10	ñ	- i	3	5	1	30	3.50 3.33		
WILTSHIRE	io	ĭ	3	2 3 2 2	3	i i	29	3.33		
BERKSHIRE	iŏ	i	3	ź	4	ò	32	3.20		
NORTHUMBERLAND	10	ò	ž	4	4	ŏ	32	3.20		
MIDDLESEX 2ND XI	8	ŏ	2	3	2	ĭ	21	3.00		
GLOUCESTERSHIRE 2ND XI	14	ĭ	4	ĭ	4	4	27	2.70		
CAMBRIDGESHIRE	io	ò	3	3	3	i	24	2.66		
NORFOLK	io	ŏ	2	ĭ	7	ò	26	2.60		
WORCESTERSHIRE 2ND XI	16	2	8	ż	2	2	36	2.57		
CORNWALL	8	õ	3	ī	. ĩ	3	8	1.60		
Top points for a suit in a second or	_	Ď	-							

Ten points for a win in a completed Two Day Match, and for a lead on the first innings in a One Day Match, provided the match cannot be played out.

Five points to the winner and three to the loser in a Two Day Match decided on the

Matches in which there is No Result on the first innings ignored. When the match is a tie the points shall be equally divided.

For tie on first innings in an unfinished match, four points to each side.

As there was no result in the Challenge Match between Bedfordshire and Surrey 2nd at the Oval, on September 14, 15, 16, 1950, in which the scores were Bedfordshire 250, and Surrey 2nd XI 26 for 3 (rain preventing any play on the second and third days), Surrey 2nd XI automatically became the Champion County by virtue of Rule 16.

FRANK CROMPTON,
Honorary Secretary, M.C.C.A.

COMPELTED MATCHES

WINS

FIRST INNINGS ONLY
WINS

CAMBRIDGESHIRE (H) MIDDLESEX (H) NORFOLK (A) SUFFOLK (H) SUSSEX (A) NORFOLK (H) SUFFOLK (A) SUSSEX (H)

LOSSES SURREY (H) LOSSES
CAMBRIDGESHIRE (A)
MIDDLESEX (A)
SURREY (A)

Friendlies:-Lost to Royal Navy, Drew with Hunts.

108

AVERAGES — 1950 ALL 2ND XI MATCHES

BATTING								
	Matches			Runs	H.S.	Aver.	100's	500
R. E. EVANS	4	7	2	286	78	57.20	0	2
F. St. UNWIN	3	4	1	153	80	51.00	0	1
H. A. FARAGHER	5	8	3	220	115	44.00	1	1
J. M. LEIPER	3	4	0	163	80	40.75	0	2
R. HORSFALL	6	9	ı	292	77	36.50	0	4
W. T. GREENSMITH	5	5	1	143	56	35.75	0	Ī
E. A. STANLEY	10	15	0	515	141	34.33	1	3
W. G. SPENCER	6	6	1	136	52	27.2	0	1
G. J. SMITH	6	6	3	18	49*	27.08	0	0
F. RIST	4	4	0	107	91	26.75	0	1
W. B. MORRIS	14	21	2	507	91	26.68	0	3
L. C. JERMAN	4	5	2	69	44*	23.00	0	0
R. A. BYRNE	4	6	0	118	49	19.66	0	0
G. H. S. WEST	8	12	0	230	119	19.18	1	0
B. TAYLOR	13	14	3	177	47	16.09	0	0
D. C. LEVICK	10	14	2	153	51	12.75	0	1
C. J. KENNY	7	7	2	56	17	11.20	0	0
D. WATKINS	3	4	0	39	28	9.75	0	0
J. A. HUGHES	6	8	0	70	26	8.75	0	0
P. COUSENS	11	10	3	20	7	2.86	0	0

ALSO BATTED :—L. S. Clark 40*, 36, 29; T. W. Howard 44*, 16, 7; S. J. Cray 83, 13; S. C. Eve 45, 14; J. A. C. Keanan 31*, 0; K. C. Preston 13, 0; J. Drinkwater 8, 1; E. J. Unwin 5, 0; T. V. Barnes 2*, 1*; I. J. Skinner 2, 0; A. V. Avery 74; G. H. Ward 29*; A. B. Lavers 20.

*—Not Out

BOWLING

	Matches	о.	м.	Runs	Wkts.	5 wkts in Aver. an inns.		
W. T. GREENSMITH	5	163.7	56	417	29	14.39	3	
I. J. SKINNER	3	76	15	167	10	16.70	0	
J. M. LEIPER	3	84.4	24	257	15	17.13	ŧ	
P. COUSENS	11	217.6	58	559	29	19.27	3	
C. J. KENNY	7	172	49	373	19	19.63	1	
L. C. JERMAN	4	133	31	299	15	19.93	0	
W. B. MORRIS	14	343.1	116	839	41	20.46	2	
G. J. SMITH	6	98	29	256	10	25.60	0	

ALSO BOWLED:—T. V. Barnes, 48-13-90-5; J. Drinkwater, 9-1-49-3; S. C. Eve, 2-0-9-0; H. A. Faragher, 8-3-30-0; J. A. Hughes, 78-17-256-5; J. A. C. Keanan, 21-0-82-3; A. B. Lavers, 25-1-8-66-7; D. C. Levick, 10-7-14-0; K. C. Preston, 51-17-97-8; F. Rist, 1-0-5-0; W. G. Spencer, 14.5-1-74-4; E. J. Unwin, 1-0-12-0.

Review of 2nd XI Season—1950

In contrast with the County side the 2nd XI were extremely successful and only narrowly failed to win the Minor Counties Championship. Their final position was 5th though only .44 behind the winners, so close was the Competition. Their percentage of matches won was higher than any other Minor County.

This success was largely due to excellent team work there being no real stars, and what was more encouraging largely the work of the younger cricketers in strong contrast with the previous season. At full strength the attack was powerful with plenty of variety, the batting was even and the fielding keen. The elected Captain, Unwin, had a competent deputy in Spencer, while Clark, Faragher, and Lavers each captained the side with success once.

Evans headed the batting averages and was quickly promoted to the Senior XI. Unwin, Faragher, and Leiper came next while the heaviest scorers were Morris and Stanley with 500 runs each. Horsfall and West both scored over 200 runs. Centuries were obtained by Stanley, Faragher, and West, and both Morris and Rist had scores of over 90 to their credit.

There were a number of useful fast-medium bowlers, all of whom were much the same standard and the opening attack was therefore strong. They included Kenny, Jerman, Skinner, Watkins, Barnes, Smith, Preston, and Leiper. The slow bowling consisted of Morris and Lavers (off-breaks), Greensmith and Hughes (leg-breaks), and Cousens as the slow left hander. Morris took most wickets, but Greensmith and Cousens both had 5 wickets in an innings three times.

The wicket-keeper was Taylor and his victims numbered 24. Generally speaking the catching and fielding were reliable and on some occasions reached a high standard, noticeably in the victory over Norfolk at Norwich.

2nd XI Caps were awarded to Evans, Cousens, Kenny, Skinner, Stanley, Taylor and West. Those who represented the County on one or more occasions included: -- Cousens, Evans, Eve, Faragher, Greensmith, Jerman, Leiper, Levick, Morris, Preston, Skinner, Stanley, Taylor and Unwin who captained the County at Chesterfield against Derby.

The outlook for 1951 is possibly not quite so good on paper since none of the chief slow bowlers nor the wicket-keeper will be available. Cousens and Taylor are now serving in the R.A.F., Morris is no longer on the staff and Greensmith is expected to be playing for the County XI, but no doubt other young players will emerge to make their mark and healthy competition is a good thing.

The programme of 16 matches for 1951 is a heavy one and F. St. G. Unwin is unfortunately unable to spare the time to captain the side regularly. He will be succeeded by W. G. Spencer.

107





L. S. CLARK (Northcliffe Newspapers)

E. A. W. STANLEY (Universal)





F. St. G. UNWIN 2nd XI Captain (P.A.—Renters)

F. RIST County Coach (Universal)

G. R. PULLINGER (Universal)





CATCHING AND WICKET-KEEPING

Taylor 24 (ct. 18, st. 6); Morris 8; Horsfall 7; Cousens, Preston and Spencer 6 each; Byrne, Hughes, Rist and Stanley 5 each; Kenny, Leiper, Smith, G. and West 4 each; Greensmith and Ward 3 each; Barnes, Evans, Faragher, Howard, Jerman, Levick and Skinner 2 each; Drinkwater, Unwin, F. St. G. and Watkins I each.

CENTURIES — (3)

STANLEY 141 v. Norfolk (a) WEST 119 v. Suffolk (h) FARAGHER 115 v. Norfolk (a)

CENTURY PARTNERSHIPS - (6)

206	STANLEY (141)—FARAGHER (115)	2nd	v. Norfolk (a)
128	STANLEY (81)—HORSFALL (77)	3rd	v. Suffolk (a)
127	WEST (119)—AVERY (74)	3rd	v. Suffolk (h)
125	UNWIN (85)—TAYLOR(47)	7th	v. Norfolk (h)
118	STANLEY (79)—GREENSMITH (55)	4th	v. Sussex (h)
114	EVANS (78)—MORRIS(58)	3rd	v. Middlesex (h

NUMBER OF SIXES — (14)

Morris 5; Horsfall 3; Leiper 2; Cray, Hughes, Spencer and Unwin 1 each.

BOWLING - 5 or more wickets in an innings

GREENSMITH			COUSENS			
Cambridgeshire (h)	7 for 29	Suffolk (h)	6 for 25			
Suffolk (h) 2nd	5 for 29	Middlesex (h)	5 for 29			
Sussex (h)	5 for 49	Sussex (a) 2nd	d 5 for 31			
MORRIS			LEIPER			
Cambridgeshire (h) 2nd	5 for 44	Royal Navy (h) 8 for				
Cambridgeshire (a)	5 for 84					
LAVI	RS	e.	KENNY			
Middlesex (a)	7 for 56	Norfolk (h)	5 for 39			

HIGHEST AND LOWEST SCORES DURING SEASON

	IIGHES I	TO MEST
ESSEX	348 for 5 declared v. Norfolk (a)	85 v. Royal Navy (h

HICHECT

OPPONENTS 344 for 9 declared by Surrey (a) 94 by Suffolk (h)

111

1950-1953

Hertfordshire

1950 Batting	M	I	N/O	R		A	
LC Bateman	6	11	2	341		27.88	
DJ Carnill	9	16	2	462		33.00	
DB Parkin	7	13	1	389		32.41	
DV Cooper	3	6	2	95		23.75	
JC Winter	6	12	0	247		20.58	
TW Tyrwhitt-Drake	7	13	1	231		19.25	
AHM Bradley	5	10	0	182		18.20	
JB Marriott	6	11	1	175		17.50	
RG Simons	8	13		180		16.36	
RG Bennett	7	13	2 3	141		14.10	
FR Allen	10	16	1	206		13.73	
LO King	9	12	5	90		12.85	
E Roberts	4	8	2	61		10.16	
J Holt	10	12	4	68		8.50	
CVL Marques	9	14	0	96		6.85	
1							
Also Batted							
S Dunkley	1	2	0	26		13.00	
F Appleyard	1	2	1	10		10.00	
NE Edmends	1	1	0	5		5.00	
G Grant	1	1	0	0		0.00	
1950 Bowling	O		R		W		A
J Holt	251		593		37		16.02
E Roberts	40		102		6		17.00
FR Allen	254		609		34		17.91
NE Edmends	43		107		5		21.40
CVL Marques	157		428		19		22.52
DJ Carnill	48		151		6		25.16
LO King	293		626		24		26.08
Also Bowled							
TW Tyrwhitt-Drake	7		14		1		14.00
LC Bateman	3		15		1		15.00
S Dunkley	4		18		1		18.00
F Appleyard	30		102		2		51.00
RG Bennett	5		30		0		-

KENT SECOND ELEVEN AVERAGES 1950. BATTING

Batsman	Innings	Not Out	Highest Score	Runs	Average
Edrich, B.	5	1	90	223	55.7
J. D. J. Bluett	9	1	116	373	46.6
B. H. Lock	14	1	143	573	44.1
Mayes, R.	13	2	104	479	43.5
W. Murray-Wood	8	2	91	235	39.2
Phebey, A. H.	5	1	60*	134	33.5
Woollett, A. F.	14	1	97	379	29.2
Ward, G. H.	7	1	67	167	27.8
Ufton, D. G.	12	1	72	294	26.7
R. J. Morris	9	0	64	213	23.7
Dixon, A. L.	8	2	48	131	21.8
Aitchison, J. E.	5	1	25*	82	20.5
Marshall, A. G.	10	6	17*	69	17.2
Pullen, A.	6	2	32	58	14.5
Lucas, F. C.	4	1	34	42	14.0
T. A. Crawford	10	0	72	123	12.3
E. G. Witherden	3	1	12	13	6.5
Page, J. C. T.	3	1	7*	10	5.0

Also Batted: Hearn, P., 1—0—95—95—95.0; R. G. Harland, 3—2—48*—71—71.0; F. J. Kelsh, 2—0—20—22—11.0; J. R. V. Woods, 2—0—19—22—11.0; M. D. Fenner, 1—0—5—5—5.0; S. Capon, 3—2—4*—4—4.0; Ballard, D. F., 1—0—3—3—3.0.

BOWLING

	Overs	Mdns.	Runs	Wkts.	Average
E. G. Witherden	117.2	39	257	19	13.5
Dixon, A. L.	34	7	116	6	19.3
W. Murray-Wood	180	48	507	25	20.3
Marshall, A. G.	370.3	84	1034	47	22.0
S. Capon	94.5	22	269	- 11	24.5
Page, J. C. T.	143.1	25	457	17	26.9
T. A. Crawford	38	12	83	3	27.7
Aitchison, J. E.	154.1	57	356	11	32.4
Woollett, A. F.	21	6	70	2	35.0
Edrich, B. R.	62	14	146	4	36.5
Lucas, F. C.	84	19	229	3	76.3

Also bowled: F. J. Kelsh, 31—9—64—6—10.7; H. S. Bowers, 36—13—57—2—28.5; Hearn, P., 21—6—61—1—61.0; Pullen, A., 14—3—34—0; Ballard, D. F., 11—0—61—0; J. R. V. Woods, 6—0—10—0; B. H. Lock, 4—0—18—0; Mayes, R., 1—0—2—0; R. J. Morris, 0.3—0—4—0.

KENT CLUB AND GROUND AVERAGES, 1950

BATTING

Batsman	Inns.	Not Out	Highest Score	Runs	Average
Phebey, A. H.	5	2	103	241	80.3
Woollett, A. F.	13	4	123	502	55.8
Mayes, R.	5	0	69	253	50.6
Pullen, A.	10	3	124*	332	47.4
Dixon, A. L.	7	1	98	271	45.2
Ufton, D. G.	6	2	70	174	43.5
T. A. Crawford	3	2	17	42	42.0
Aitchison, J. E.	5	0	55	102	20.4
Dring, C.	5	1	13	44	11.0
Pearce, R.	3	0	15	25	8.3
Lucas, F. C.	4	2	8*	15	7.5 6.7
Hellmuth, L.	4	0	19	27	
Ward, G. H.	6	1	7*	20	4.0
Marshall, A. G.	3	1	2*	4	2.0

Also batted: Edrich, B. R., 2—1—34*—49—49.0; D. H. Hiscock, 1—0—34—34—34.0; B. H. Lock, 1—0—12—12—12.0; J. D. J. Bluett, 1—1—15*—15; Lewis, C., 1—1—5*—5; Ody, J. E., 2—2—2*—3.

BOWLING

Bowler	Overs	Mdns.	Runs	Wkts.	Average
Aitchison, J. E. Edrich, B. R. Marshall, A. G. Ody, J. E. Hellmuth, L. Page, J. C. T. Ballard, D. F. Lucas, F. C. Woollett, A. F. Dixon, A. L. K. Goodwin Pullen, A.	103.5 17 152 30.4 37 52 88 97 18 13.2 17 32	29 4 18 3 11 11 14 21 5 2 2 3	214 56 458 134 107 142 275 281 54 55 46 147	19 4 28 7 5 6 11 11 2 2	11.3 14.0 16.3 19.1 21.2 23.7 25.0 25.5 27.0 27.5 46.0 147.0

LANCASHIRE 2nd XI AVERAGES 1950

	M	•	NO	Runs	H.S.	Avge.	C	50	Overs	M	Runs	Wkt	Avge.	5i 10	m	Best	Ct	St
R.A.Acton	4	5	2	117	77*	39.00	0	1									6	0
R.Alderson	16	19	2	417	76	24.52	0	4	12	2	46	0					5	0
J.F.Blackledge	12	15	1	526	168	37.57	2	2	5	0	13	0					9	0
A.Booth	9	15	2	612	253	47.07	2	1									4	0
T.E.Dickenson	2	2	2	6	5*	•	0	0	27	2	61	2		0	0	2-43	1	0
P.Greenwood	7	7	1	73	28	12.16	0	0	228.5	80	427	31	13.77	2	1	6-27	3	0
D.F.Henly-Welch	4	6	1	123	44	24.60	0	0	27	4	73	4	18.25	0	0	3-32		0
E.F.W.Highton	13	16	2	147	25	10.50	0	0	211.4	50	559	25	22.36	0	0	4-24	10	0
J.Hilton	15	14	3	174	36	15.81	0	0	333.3	124	640	37	17.29	2	1	6-11	9	0
M.J.Hilton	2	4	1	38	21	12.66	0	0	84.2	31	169	11	15.36	0	0	4-27	1	0
P.Hough	16	23	2	459	85	21.85	0	3	123.2	30	362	16	22.62	0	0	3-14	5	0
B.J.Howard	14	17	6	723	165*	65.72	2	3	13	1	54	0					7	0
J.Ingham	1	0	-	-	-	-	0	0	2	0	6	0					2	0
J.G.Lomax	12	15	2	359	67	27.61	0	2	165	49	358	14	25.57	0	0	3/26	7	0
F.D.Parr	10	12	0	148	42	12.33	0	0									8	12
M.G.Rhodes	7	12	1	194	35	17.63	0	0									6	0
W.B.Roberts	17	12	3	129	27*	14.33	0	0	561	249	940	71	13.23	4	0	5/40	3	0
D.Smith	1	1	1	18	18*	-	0	0	25	10	52	2	26.00	0	0	2-49	1	0
J.B.Statham	5	4	2	22	16*	11.00	0	0	163.5	43	372	26	14.30	1	0	5-47	3	0
D.H.Stone	13	12	4	161	41*	20.12	0	0	241.4	66	531	34	15.61	2	0	5-37	5	0
J.A.Tobin	3	3	0	34	22	11.33	0	0	2	0	13	0					0	0
A.Wharton	4	4	1	36	22	12.00	0	0	4	1	7	0					4	0
A.Wilson	10	5	1	24	13	6.00	0	0									15	2
D.Wolstencroft	1	2	0	9	9	4.50	0	0									0	0
Substitute																	1	0

MINOR COUNTY AVERAGES 1950

BATTING AVERAGES.

N	o. of	Times	Total	Highest	
	Inns.	Not out	Runs	Score	Average
D. Barrick (7)	10	2	430	110	53.75
P. Davis (13)	8	, 0	388	121	48.50
V. Broderick	5	1	150	68	37.50
E. Davis (70)	12	0	367	86	30.59
B. Reynolds (86)	10	1	254	104*	28.22
H. W. Wright	10	2	177	63	22.12
D. Greasley	10	0	218	61	21.80
R. W. Clarke	4	1	62	39	20.66
I. Dennis	8	1	95	50	13.57
J. Drage	6	2	36	18	9.00
G. Brice	5	1	27	22	6.75
S. Gigner	4	· 2	10	5	5.00

Also batted: A. F. Skinner 2-1-73-94, F. Jakeman 1-0-90-90 J. Walton 1-0-25-25, A. Liddell 2-1-20-22 M. W. Warrington 1-0-13-13, K. T. O. Cox 1-0-8-8

BOWLING AVERAGES.

	Overs	Maidens	Runs	Wickets	Average
J. Drage	117.2	39	235	15	15.66
D. Barrick (18)		19	346	22	15.72
V. Broderick	75.2	29	142	8	17.75
S. Gigner	66	19	88	4	22.00
R. W. Clarke	60	13	141	6	23.50
G. Brice	45	6 ·	137	5	27.40
D. Greasley	74	19	221	5	44.20
J. Dennis	85	19	254	5	50.80

Also bowled: R. L. Whitby 11–1–37–0, J. Walton 31–8–118–3 K. T. O. Cox 24–8–64–3, M. Warrington 7–3–17–1 J. Wyld 11–1–36–0

The figures in brackets denote the placings of Northamptonshire players in the official Minor Counties Cricket Association averages.

The qualification for batting and bowling was 8 innings and 20 wickets respectively.

MINOR COUNTIES MATCHES 1950

WORGESTERSHIRE II v. NORTHAMPTONSHIRE II

Played at Bromsgrove, May 10 and 11. Northamptonshire II won by an innings and 66 runs.

WORCESTERSHIRE II

WOI(C1:511:11C			
E. Tinkler, b Drage J. Nourse, b Gigner M. Horton, c Brice, b Gigner A. White, not out H. Jackson, run out	0' 3 12 80	st. Constable, b P. Davis run out	4 11 6
G. Bancks, run out H. Sanders, run out G. Everton, c Gigner, b Drage R. Duff, b Drage J. Flavell, c Barrick, b Drage	8 2 0 1	c Wright, b Barrick	13 5 13 6
H. Davies, lbw. b BarrickExtras Total	5	not out	4

BOWLING ANALYSIS

	Ο.	M.	R.	W.	0.	М.	R.	W.
Drage	19	S	40	4	10.5	0	10	7
Gigner	16	8	10	2	13	2	24	U
Greaslev	5	1	16	. 0				
Davis (P.)	15	7	32	0	5	1	8	.2
Barrick	3 4	0	20	1	14	0	39	6
Barrick	J.T			_				

NORTHAMPTONSHIRE II

P. Davis, c Everton, b Flavell1	21
F Davis c Davies, b Jackson	13
D Barrick not out	06
G Brice b Everton	2
H. W. Wright, not out	19
Extras	14

Total (3 wkts. dec.).....274

B. Reynolds, D. G. Greasley, D. Constable, M. Norman, S. Gigner, J. Drage

BOWLING ANALYSIS

	Ο.	M.	R.	W.
Flavell	24	6	71	1.
Everton	17	4	50	1,
Horton		1	+7	0
Jackson	9	2	30	1
Duff	9	0	38	0
Tinkier	7	0	24	0

^{*} denotes Not Out

HORTHUMBERLAND COUNTY CRICKET CLUB BATTING AND BOWLING AVERAGES, 1950

BATTING

,							100			
	Inns.		N.O.		H.S.		Tota	ıl	Av'ge	
W. E. Phillipson	16		3		58	• • •	493		37.9	
G. Walton	12		0		116	• • •	413	•••	34.41	
1. Murray	4.		1		42*		95		31.67	
J. M. Watson			3		80*		295		29.5	
J. A. 11. Barratt	11		0		102		291		26.45	
L. E. Liddell			1		71		335		23.92	
S. W. Hunt			3		46		196		19.6	
					18*		166		18.44	
K. J. Earl					69		177	167	16.09	111.73
K. G. Davidson			3				125		15.63	
N. Graham							27		9	
H. Elsdon									8.5	
W. II. Golightly				•••			2200		8,36	
H. B. Henderson				•••						
R. Symington	. 6	• •	. 3	• • •					6	
B. Muchall	. 4	•••	. 1.						5	
J. N. Grover			. 0		. 2		. :3	•••	1	
A. D. Cunningham	. 2		v	• • •	. 21		30		15	
T. J. G. Moralce	. 2		. 0		. 18	•••	. 22		11	
R. Tompkins	. 2		. 0		. 13	• • •	. 18	3	9	
C. L. Routledge			. 0		. 8		. 11	ı	5.5	
P. Clarke			. 0		. 11		. 11	l	5.5	
					_	٠.,	. ()		
L. McGibbon		• •								

^{*} denotes not out.

BOWLING

	Overs		Mds		Runs	s	Witts	· .	AV ge
r McCibbon	32		12		78		5	• • •	15.6
I. A. H. Barratt	67.3	5.49	18		228		11		20.7
J. M. Watson	192		43		524		24		21.83
J. M. Watson K. J. Earl	991 9		55		659		29		22.72
H. Elsdon	31		6		140		5		28
R. Symiugton	U-0		18	• • •	242		8		30.25
R. Symington	00	• • •		•••	3.11	10.000	10		34.1
S. W. Hunt	93.4		1.5	•••	100	•••	12		33.5
W. E. Phillipson	116		10	• • •	405		1.5		199
W H Golightly	43.3	0.40	18		122		1	• • • •	124

Northumberland Scored 3,341 Runs for 160 Wickets. Average: 20.88.

Opponents Scored 3,172 Runs for 118 Wickets. Average: 26.88.

Northumberland Conceded 171 Extras.

Opponents Conceded 143 Extras.

Played 10, Won 0, Won on 1st Innings 4, Lose on 1st Innings 4, Lose 2. Points: 32.

MINOR COUNTIES' COMPETITION --- 1060

FINAL ORDER

No. of Matches

	Played	Won	Lost	Won on 1st Inns.	Lost on 1st Inns.	No Result	No. of Points Obtained	Average Points Per Match
Surrey 2nd XI Bedfordshire Warwickshire 2nd XI Glamorgan 2nd XI Lincolnshire Hertfordshire Yorkshire 2nd XI Lancashire 2nd XI Lancashire 2nd XI Staffordshire	14 8 12 8 12 12 10 14 18 10 10	4 2 3 2 5 3 4 5 3 3	1 - 1 2 2 1	4 5 1 3 4 3 5 1 3	2 2 2 3 3 4 4 4 1 3	4 1 3 3 	66 45 56 31 74 59 57 72 87 38 64	6.60 6.42 6.22 6.20 6.16 5.90 5.70 5.53 5.43 5.42 5.40
Hampshire 2nd XI	10 12 14 10	2 1 2 3	2 1 1 3	5 8 2 2	1 4 2	1 1 5	45 53 43 46	5.00 4.31 4.66 4.60
Dorset Cheshire Derbyshire 2nd X1 Suffolk Northamptonshire 2nd X1	10 10 10 8 8	1 1 1 1	2 2 2 1	3 3 1	1 3 3 5 4	3 1 1	28 34 34 30 30	4.00 3.77 3.77 3.75 3.66
Nottinghamshire 2nd XI Durham Sussex 2nd XI Wiltshire Berkshire Northumberland	10 8 10 10 10	1 1 1	2 1 1 3 3 2	2 3 3 2 2 4	3 2 5 3 4 4	2 1 1 —	29 21 30 29 32 32	3.62 3.50 3.33 3.22 3.20 3.20
Middlesex 2nd XI Gloucestershire 2nd XI Cambridgeshire Norfolk Worcestershire 2nd XI Cornwall	8 14 10 10 16 8	 - - 2	2 4 3 2 8 3	3 1 3 1 2 1	2 4 3 7 2	$\frac{1}{4}$ $\frac{1}{2}$ $\frac{2}{3}$	21 27 24 26 36 8	3.00 2.70 2.66 2.60 2.57 1.60

Ten points for a win in a Completed Two Day Match, and for a lead on the first innings in a One Day Match, provided the match cannot be played out.

Five points to the winner and three to the loser in a Two Day Match decided on the first innings.

Matches in which there is No Result on the first innings ignored.

When the match is a tie the points shall be equally divided,

For tie on first innings in an unfinished match, four points to each side.

As there was no result in the Challenge match between Bedfordshire and Surrey and at the Ovel, an September 14, 15, 16, 1950, in which the scores were Bedfordshire 250 and surrey 2nd 26 for 3 (rain preventing any play on the second and thirds days), Surrey 2nd automatically became the Champion County by virtue of Rule 16.

NORTHUMBERLAND COUNTY CRICKET CLUB

President--

SIR RALPH MORTIMER, O.B.E., J.P.

Vice-Presidents---

F. B. Atkinson	F. W. Gillespie	Lt. Col, R. Milvain
J. M. Briggs	.Sir Cuthbert Headlam	Lord Ravensworth
J. M. S. Coates	G. L. Hunting	
H. D. Cuthbert	Lord Joicey	C. F. Stanger Leathes
M. Davey	Sir Leonard Milburn	G. N. Taylor
	W. G. Mackay	G. P. Taylor

Committee-

Chairman: SIR RALPH MORTIMER, O.B.E., J.P.

F. R. Barnes	G. Henderson	S. G. March
A. V. Currie	R. H. Houstoun	J. P. Smith
G. Dixon	R. Hutchinson	J. B. Turnbull
E. H. Evans	R. Lincoln	G. N. Taylor
G. Harbottle	H. C. Lee	A. E. Veitch
	W. G. Mackey	

	County		Chin & Ground	Chib & Ground
	XI	1st XI	2nd XI	3rd XI
Captains:	L. E. Liddell	L. E. Liddell	F. Morland	J. P. Smith
Vice-Capts.:		J. S. Oswaid		T. J. Winter

Club & Ground 3rd (C) Xf Captain: F. A. Waller

Club and Ground Committee

Chairman: R. H. Houstoun,

F. R. Barnes	W. G. Mackay	R. Tompkins
J. H. O. Brown	R. O. MacKenna	J. S. Oswald
T. R. Davidson	F. Morland	F. A. Waller
A. H. lacobs	J. P. Smith	

Honorary Secretary-

GEO. II. MALLEN,

223, Osborne Road, Newcastle on Tyne, 2.

Honorary Treasurer-

MAJOR F. C. CLAYTON, Barclays Bank Limited, Newcastle upon Type, 1.

Honorary Auditors-

Messrs. Price Waterhouse & Co., 31, Mosley Street, Newcastle upon Tyne, 1.

REPORT OF THE COMMITTEE FOR 1950

The Committee have pleasure in presenting their Report for the Season 1950.

During the year 10 Minor Counties Matches were played, 4 were won on the first innings, 4 lost on the first innings and 2 were lost. These results were disappointing and the lack of a first class spin bowler, preferably left-handed, evident at the beginning of the season, became more acute as the season progressed. The difficulty in players being able to find time to play in County matches was also felt. During the year no less than 22 players were called upon to play for the County.

Phillipson was our most consistent batsman; K. J. Earl, whilst not taking as many wickets this year as last, was again the backbone of the bowling, and Watson bowled very steadily throughout the season. J. A. H. Barratt's all-round performances were of considerable assistance and the fielding of G. Walton and K. G. Davidson was outstanding. K. J. Earl represented the Minor Counties against the M.C.C. at Lords and against the West Indies at Norwich, and it is clear from the Press comments and other information reaching us that a high opinion of him is held. Phillipson, who joined us this year, has been a great acquisition, not only as a cricketer but also as a coach, and his association with the Club during this his first year has been particularly happy.

The match against the West Indies was a great success and although the Indies won by an innings and 8 runs, play covered the best part of two days, the gate receipts being £871/19/0, of which the West Indies' share was £404/6/4. Appreciation was expressed by the West Indies side of the wicket and general condition of the Ground, which reflects great credit on Mr. Porter, our head groundsman, and his staff.

Although the weather during last year was exceptionally bad we again had very good support from the public and during the season 26,715 people paid at the gate to watch all matches.

The new stand was completed in time for the beginning of the season and there is no doubt that this has added materially both to the comfort of the spectators and the general appearance of the Ground. Towards the end of the season the concrete wickets were completed behind the stand, and full advantage of these will be taken during the season 1951. It is hoped that eventually, when building becomes practicable, it will be possible to cover these over and thus have all the year round practice and coaching. The effect of the new seating arrangements as a result of the Appeal Fund has brought about a considerable saving in repairs and renewals which should not now be necessary for several years to come.

During the season Mr. A. H. Jacobs of the Club & Ground Committee, together with the lady helpers, undertook to do the catering at the "Lambton Arms" for all matches. The result of their work was extraordinarily good and much appreciation was expressed by spectators as to the quality of the teas and snacks provided. The profit handed to the Club as a result of this was £254/0/6. A bar was also opened in the Pavilion and whilst the hours of sale were restricted, this extra amenity was much appreciated.

During the year further efforts were made to encourage young cricketers, and in this connection, Hunt, the new professional of South Northumberland, as well as Phillipson, has done great service, and the Committee's thanks are due to Messrs. G. Harbottle, R. H. Houstoun, A. V. Currie, R. Tompkins, and L. E. Liddell for their organisation and work in connection with the Public School boys' matches and trial games. The organised coaching scheme for junior members was not as successful as anticipated. The scheme was perhaps too ambitious and a revised one has been evolved for the coming year, which we hope will yield better results.

It is with great regret that the Committee have to report the death of Lord Ravensworth, a Vice-President of the Club. He took a very active interest in cricket in Northumberland and his cheerful personality will be very much missed.

During the coming year, due to the sudden change without warning, of Race Week, we are without a fixture on Race Wednesday and Thursday. Fixtures are made with County sides nearly a year ahead and we were due to play Staffs and Lancs II during Race Week. Whilst we have been able to bring forward the Staffs match, Lancs are unable, due to commitments, to alter their dates. The Committee have made every endeavour to arrange a suitable fixture for the vacant date, but up to the time of publication of this report have not been successful. Negotiations are, however, still proceeding and a game will certainly be arranged for these two days. No touring team will visit Northumberland in 1951.

The County Club and Ground First XI won the Northumberland League Championship for the third year in succession. R. Tompkins scored over 500 runs for the First XI and both K. G. Davidson and Phillipson have averages of over 50. The brunt of the bowling was again borne by R. O. McKenna, K. J. Earl, J. S. Oswald and D. V. Brims.

The Second XI played in the "B" Division of the League, and finished 6th.

The Third Team played in the "C" Division, finishing 2nd.

Friendly games were played on Saturdays and during the evenings.

These evening matches again enable members who could not always find time on Saturdays, to play.

The Wilson Knockout Competition Cup was won by Morpeth Cricket Club, to whom the Committee extend hearty congratulations.

The season's workings show a profit of £30/10/5, which together with the money allocated to the Club from Test Matches, gave a surplus on the year's workings of £281/2/8. It should be noted, however, that had it not been for the efforts of the Catering Committee and the Test Match receipts, there would have been a deficit of £335/1/4.

Membership centinues to increase, the present figures being 1,093, and 13 subscriptions were outstanding at the end of the year. Unfortunately, expenses continue to increase also, although the match expenses this year were rather higher than usual owing to the additional expense incurred by reason of the West Indies fixture. The £6,000 target set for the Ground purchase and reconstruction appeal fund has now been reached and the appeal closed. There will remain in hand £1,033/15/3, which is considered sufficient to complete the reconstruction at present contemplated. In this connection the work done by Mr. J. P. Smith and Mr. A. H. Jacobs cannot be over-stressed. They have been almost entirely responsible for the raising of some £2,000 by special efforts.

The Committee also wish to record their grateful thanks to the Directors of The Samares Trust Ltd., who, on account of the work which the Club is doing to encourage young cricketers in the County, contributed £1,100 in all to the Appeal Fund.

The Committee's thanks are due to Mr. Porter and his staff, to the ladies who arranged and served the teas so successfully, to the scorers, umpires, Messrs. Price, Waterhouse & Co., auditors, the Press and all those members not named who so willingly helped to make the season a success.

SIR RALPH MORTIMER, O.B.E., J.P., Chairman. F. C. CLAYTON, Hon. Treasurer. GEO. H. MALLEN, Hon. Secretary.

NORTHUMBERLAND COUNTY CRISKET CLUB

Season - 1950

SUMMARY OF MATCHES

			lst Inn		2nd Inns.						
.3.61	May 29 & 30 Chester-le-Street	Northumberland Durham		62	for 6	D.	Won	on	lst	Inns.	
362	June 19 & 20 Newcastle	Lancashire II Northumberland		87 206	for 3	Ø.	Lost	on	1st	Inns.	
363	June 21 & 22 Newcastle	Yorkshire II Northumberland			for 1	Š	Lost	on	lst	Inns.	
364	June 26 & 27 Newcastle	Cheshire Northumberland		$\frac{207}{21}$	for 1	D	Won	on	lst	Inns.	
365	July 10 & 11 Thirsk	Yorkshire II Northumberland		for 8 229	* 28 fo	r 3	Lost	bу	7 W	kts.	
366	July 12 & 13 St. Helens	Northumberland Lancashire II		81	for 2	Ÿ	\Von	on	1st	Inns.	
367	July 19 & 20 Newcastle	Northumberland Staffordshire		$\frac{126}{52}$	for 0		Lost	by	10	wkts.	
368	August 7 & 8 Newcastle	Northumberland Durham				D	Lost	on	1st	Inus.	
369	August 14 & 15 Smethwick	Northumberland Staffordshire		82	for 2	4	Lost	on	lst	Inus.	
370	August 16 & 17 Middlewich	Northumberland Cheshire		28	for 1	abla	Won	เจก	1st	Inas.	
	Played 10, Won	0, Lost 2, Won 6	on 1s Decla	t Inn ired (ings 4, Closed.	Los	st on	1st	Inn	ings 4.	

F18 Sun 14.15 Wers India hord by an image

14/15 June F15 19/20 June 36 21/22 June 36	8 18 18 18 18 18 18 18 18 18 18 18 18 18	v.Iancash v.Yorkshi v.Cheshin v.Yorkshi v.Iancash v.Staffor v.Durham v.Staffor	nire II ire II re ire II ire II nire II rdshire	Drawn - Won first innings Lost by an innings and 8 runs Drawn - Lost first innings Drawn - Lost first innings Drawn - Won first innings Lost by 7 wimkets Drawn - Won first innings Lost by 10 wickets Drawn - Lost first innings Drawn - Lost first innings Drawn - Lost first innings Drawn - Won first innings					
BATTING									FLDG
	ΪΊ	I	NO	RUNS	HS	ÀV.	100s	50s	ct-st
W.E.Phillipson	10	17	4	495	58	38.08	_	3	4
G.Walton	7	12	0	413	116;	34.42	1	2	_
J.M.Watson	10	13	3	295	80+	29.50	-	1	8
J.A.H.Barratt	7	11	0	291	102	26.45	1	-	3
L.E.Liddell	10	15	1	335	71	23.93	_	1	3 5
S.W.Hunt	7	13	1 3	196	46 48+	19.60	-	-	4 6
K.J.Earl	10	13	4	166	48	18.44	-	-	
M.Graham	6	10	2	125	30 ⁺	15.63	_	-	2
K.G.Davidson	8	11	0	162	69	14.73	-	1	1
W.H.Golightly	4	6	0	51	30	8.50	-	-	_
H.B.Henderson	10	13	2	92	22	8.36	-	-	18-1
P.Clark	1	2	0	11	11				
A.D.Cunningham	1		Ö	30	21				
H.Elsdon	3	3	Ö	27	14				
J.M.Grover	3 2	3	Ö	3	0				
L.McGibbon	2	2 3 3 2	1	ó	0+				
T.G.Moralee	2	2	Ō	22	18				
J.B.Muchall	2	4	1	15	12+				1
I.Murray	2	4	ī	95	42 ⁺				2
C.L.Routledge	ī	2	0	11	8				_
R.Symington	4	6	3	18	12 ⁺				1
R.Tompkins	i	2	ó	18	13				-
BOWLING						9			
5011 HE1.G		0	M	\mathbb{R}	M	$A\mathbf{v}$.	10WM	5WI	B/B
L.RcGibbon		32	12	78	5	15.60	-	1	5-57
J.A.H.Barratt		67.3	18	228	11	20.73	==	-	4-60
J.M.Watson		192	43	524	24	21.83	-	1	5-44
K.J.Earl		221.2	55	659	29	22.72	-	ī	5 - 73
H.Elsdon		44	6	140	5	28.00	-	-	4-35
R.Symington		83	18	242	8	30.25	ens	-	3 - 48
V.E. Phillipson		116	15	402	12	33.50	-	-	3 - 58
S.W.Hunt		93.4	4	341	10	34.10	-	-	3 - 45
			18			3 1			7 17
W.H.Golightly		45.3	T O	122	1				

W.	S.	SURRIDGE.
----	----	-----------

				YY). DUI	CICII	, , , ,				
			BAT	ΓING	AVERA	GES,	1947-195	50.	m:		
					_		Most in		Times ot out.		Aver.
			Inns.		Runs.		an Inns.	-	I Out.		16.57
1947			8	•••	116	•••	33*				14 .00
1948	•••	•••	36	•••	424 300		41*		2	•••	12.00
949	• • •	•••	27 42	•••	405		55		5		10.95
1950	• • • •	•••					, 1947-19				
				LING	Mdns.	AGES	Runs.	30.	Wkts.		Aver.
			Overs. 140.4		19		445		10		44 . 50
1947	•••		640.3		151		1721	***	57		30.10
1948 1949			515.5		92		1721		6 r		28 -21
1950			876.1		192		2331	•••	73	• • •	31.93
- , ,											
					0.1.	X7 A T	T				
					O. J. '						
				BATT.		EKAC	E, 1950. Most in		Times		Aver.
			Inns.		Runs.		an Inns.		not out.		Aver.
1950		• • • •	1		0	•••	0*	•••	0	•••	
			10	OWI	ING AL	TERA	GE, 1950				
			Overs.	OWL	Mdns.	Little	Runs.		Wkts.		Aver.
1950			20		4		52		1		52
1949 1950	•••		Inns. 6 5	TTIN	Runs.	RAGE RAGI	MAN. E, 1949-19 Most in an Inns 10* 0* E, 1949-1 Runs. 258	:::	Times not out		Aver. 6 · 00 — Aver. 36 · 85
1949 1950			100		23		251				10.31
1937 1938 1939 1946 1947 1948 1949			Inns. 7 2 13 6 12 7 27 24	TTIN	Runs 52 32 246 212 282 166 856 473	RAGE	ES, 1937- Most in an Inn 23 22 66 102 105 68 148	1 s	. 0 . 2 . 1 . 1 . 1	it.	Aver. 7'42 16'00 22'36 42'40 25'63 27'66 35'66 21'50 Aver.
1939			_		O		_	٠			_
1939					1				. І	•••	44 .00
1940			3								

GROUND BOWLERS' STAFF.

Engaged at Oval during Season 1950.

NAME.	WHERE BORN AND DATE OF BIRTH.	YEAR FIRST EN- GAGED AT OVAL.	CLUB PLAYING FOR WHEN ENGAGED.
Barrington (Kenneth)	Reading, 24 Nov., 1930	1948	Reading
Bedser (Alec Victor) Bedser (Eric Arthur) Brazier (Alan Frederick)	Reading, 4 July, 1918 Reading, 4 July, 1918 Paddington, 7 Dec., 1924	1938 1938 1948	Woking Woking Ealing Dean
Clark (Thomas Henry) Constable (Bernard) Cox (Denis Frank)	Luton, 5 Oct., 1924 Molesey, 19 Feb., 1921 Bermondsey, 21 Dec., 1925	1947 1938 1948	Vauxhall Motors East Molesey Peek Freans, Walham Green
Fishlock (Lawrence	Battersea, 2 Jan., 1907	1930	Dulwich Hamlet
Barnard) Fletcher (David George	Sutton, 6 July, 1924	1947	Banstead
William) Jones (John Morris) Kirby (Geoffrey Norman George)	Llanelly, 31 Oct., 1924 Reading, 6 Nov., 1923	1949 1947	Limpsfield Reading
Laker (James Charles) Lock (Graham Anthony Richard)	Bradford, 9 Feb., 1922 Limpsfield, 5 July, 1929	1947 1948	Catford Limpsfield
McIntyre (Arthur John	Kennington, 14 May,	1935	Queries
William) McMahon (John William)		1947	Australian Services
Parker (John Frederick)		1931	Old Quintinians
Pratt (Derek Edward) Pratt (Ronald Charles Ernest)	Balham, 31 Oct., 1925 Balham, 5 May, 1928	1948 1948	Banstead Banstead
	Streatham, 6 July, 189 Croydon, 25 Oct., 193		Mitcham Addiscombe
Whittaker (Geoffrey James Willett (Michael David)	Peckham, 29 May, 191 Norwood, 21 April, 19	6 1935 33 1949	Queries Herne Hill

* Coach

128

119

2nd ELEVEN AVERAGES—COUNTY MATCHES 1950

BATTING

	of Innings	Times Not Out	Most in an Innings	Total Runs	Average
W. Watson	2	0	168	182	84.00
W. G. Keighley	11	0	116	615	55.90
H. Halliday	3	1	44	107	53.50
W. H. H. Sutcliffe	8	1	146	291	41.57
E. S. Barraclough	14	1	101*	518	39.84
R. Aspinall	13	4	100*	294	32.66
N. F. Horner	18	2	147	504	31.50
C. Lee	7	0	64	197	28.14
R. Illingworth	18	4	76	366	26.14
G. A. Smithson	3 5	0	44	69	23.00
M. G. Crawford	5	1	56	89	22.25
R. J. Parker	14	1	118*	243	18.69
D. E. V. Padgett	8	1	31	121	17.28
K. Smales	18	1	54	287	16.88
. Firth	16	4	31	162	13.50
A. Mason	5 5	1	26	45	11.25
E. Leadbeater	5	1	18	33	8.25
. R. Ashman	7	î	29	45	7.50
M. Walker		î	~5*	12	4.00
3. Brooke	4 5	î	7*	8	2.00

The following also batted:—J. M. Cownley 18; D. Blackburn, 5, and 5 C. Turner, 11, 4, and 9*; W. E. N. Holdsworth, 2, 1, and 1; C. W. Foord, 3*, 4* and 5*; R. Appleyard, 5*, 2, 0, and 1*; P. Rochtord, 11; L. Horsman, 35, and 1; C. M. Grainge, 0; A. M. Ivey, 0, and 1; R. Wood, 1, 9*, and 9*; F. S. Trueman, 0*.

* Denotes Not Out.

BOWLING

Bowlers		Overs	Maidens	Runs	Wickets	Average	
R. Appleyard		134.2	48	229	29	7.89	
H. Halliday E. Leadbeater		38.4 73.1	14 18	92 203	19	10.22 10.68	
W. E. N. Holdswo	rth	42	7	107	10	10.70	
B. Brooke K. Smales		85.3 187.3	26	204	13	15.69	
J. R. Ashman		184.1	60 80	439 414	23 19	19.08 21.78	
A. Mason		122.5	71	257	11	23.36	
R. Wood R. Aspinall		95.3 270.3	35 54	244 888	10	24.40 28.64	
E. S. Barraclough		134.3	35	292	9	28.64 32.44	
R. Illingworth M. Walker	*****	52	15	136	4	34.00	
wi. warker	2 000	84	19	229	4	57.25	

The following also bowled:—W. H. H. Sutcliffe, 3-1-5-0; W. G. Keighley, 3-1-2-0; J. M. Cownley, 7-0-15-0; C. W. Foord, 44.1-6-98-2; C. M. Grainge, 14-2-41-1; A. M. Ivey, 5-1-13-1; G. Helliwell, 21-1-80-1; C. Lee, 6-1-13-0; F. S. Trueman, 13-3-33-0.

MINOR COUNTIES COMPETITION 1950

TABLE OF RESULTS

FINAL POSITIONS

1st Innings

							No		
	Pl	ayed	Won	Lost	Won	Lost	Result	Points A	verage
Surrey II		14	4	_	4	2	4	66	6.60
Bedfordshire		8	2	-	5	-	1	45	6.42
Warwickshire II		12	3	-	4	2	3	56	6.22
Glamorgan II		8	2	-	1	2 2 3	3	31	6.20
Essex II		12	5	1	3	3	_	74	6.16
Lincolnshire		12	3	_	4	3	2	59	5.90
Hertfordshire		10	3		3	4		57	5.70
Yorkshire II		14	4	1	4	4	1	72	5.53
Lancashire II		18	5	2	5	4	2	87	5.43
Staffordshire		10	3	2 2 1	1	1	3	38	5.42
Hampshire II		10	3	1	3	3	_	54	5.40
Buckinghamshire		10	2 3 2 5 3 4 5 3 3 2 1	2	5	_	1	45	5.00
Kent II		12	1	1	8	1	1	53	4.81
Devon		14	2	1	2	4	5	42	4.66
Oxfordshire		10	3	3	2 2	2		46	4.60
Dorset		10	1	2	3	1	3	28	4.00
Cheshire		10	1	2 2 2	3	3	1	34	3.77
Derbyshire II		10	1	2	3	3	1	34	3.77
Suffolk		8	1	1	1	3 5	_	30	3.75
Northamptonshire	II	8	1	1		4	2	22	3.66
Nottinghamshire I	I	10	1	2	2	3	2 2 2	29	3.62
Durham		8	_	1	3	2	2	21	3 50
Sussex II		10		1	3	5	1	30	3.33
Wiltshire		10	1	3	2 2	3	1	29	3.22
Berkshire		10	1	3	2	4	_	32	3.20
Northumberland		10		2	4	4	_	32	3.20
Middlesex II		8		2	3	2	1	21	3.00
Gloucestershire II		14	1	4	1	4	4	27	2.70
Cambridgeshire		10		2 4 3 2 8	3	3	1	24	2.66
Norfolk		10	_	2	1	7	_	26	2.60
Worcestershire II		16	2	8	2	2	2	36	2.57
Cornwall		8		3	1	1	3	8	1.60

Ten points for a win in a Completed Two Day Match, and for a lead on the first innings in a One Day Match, provided the match cannot be played out.

Five points to the winner and three to the loser in a Two Day Match decided on the first innings.

Matches in which there is No Result on the first innings ignored.

When the match is a tie the points shall be equally divided.

For tie on first innings in an unfinished match, four points to each side.

As there was no result in the Challenge Match between Bedfordshire and Surrey II at the Oval, on September 14, 15, 16, 1950, in which the scores were Bedfordshire 250 and Surrey II, 26 for 3 (rain preventing ray play on the second and third days), Surrey II automatically became the hampion County by virtue of Rule 16.